Ch. 1 AP Practice Problems (p. 159) — Limits & Continuity " ' U :62’(
1. Which line is an asymptote to the graph of f(x) = ¢2?
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For which of these functions docs the table suggest that the

limit as x approaches 0 exists?
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6. If a function f is continuous on the closed interval [1, 4] and !3 y 1V T
if f(1)=6 and f(4) = ~1, then which of the following

must be true? Since +[f+)-— (<4 -"ﬁ(z)
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(B)i f(c)=1 for some number c in the open interval (1, 4).

(€} f(c)=1 for some number ¢ in the open interval
(=1,6).

(D) f(c) # ~2 for any number ¢ in the open interval (1, 4).



7. Which are the equations of the asymptotes of the graph X (1

of the function f(x) = ———==" O A (H3)(x-3)
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9. An odd function f is continuous for all real numbers.
If lim f(x)=~—2, then which of the statements
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must be true?
I. £ has no vertical asymptotes.
iL l%f(x):ﬁ
I The horizontal asymptotes of the graph of f
arey=-—2and y=2.
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iL Suppmmefunctionfis continuous for all real numbers.
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